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Signal extraction

» Doing the signal extraction with 22 and 23 data.

Chebyshev pol for combination&residual bkg

Right side can not be fitted well
Can be caused by signal shape and function for background
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The results at with pt between 2-6 GeV/c can match
the preliminary results within uncertainties. But
higher in high pt.

The fit of low pt needs more tuning
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The shape of background in pt bin 6-16 GeV/c are different between preliminary results and this new fit.
This is the reason why the new result is higher than before.



Momentum smear

» While using LHC23j7b for input is OK (used in the fit in slides
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» Need more understanding of the influence of the input of RCpT vs.
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